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Example: Build a FEM model. Find the elastic strain energy and potential load
energy. Calculate the displacements and reaction
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Global stiffness matrix :
Tk H0+0+0 |—K,+0t0+0 [0+D+ 01D ]
D@ L[kj* 4 S n Y

—K1Dt0+0 L(/\'i‘o“'o Zto"-o <

s 0+ 0+0t0 ojqurOr—lg;\OJrO“*OJrk

s i s

ik =g | O
- ZTCL tlca | —K2
ﬁﬁ%l k2

Elastic strain Energy:
k,f ’[44 O a'f

= A .- =I5 |
a — Z/La/(/[ézlusj kf 1('..1ka )CZ ug
O —lo K Us

(we need u;, and Uy [(4=0) tc fund %/umluc&%y

)




[FI, = [P+ = R =7 [FiF=LF7

e i dE
W f,xc];j 3{1} (o S‘Mfaw,[aw/)
+0) (K1
W= Lys( 2P+ (F ok ’:f:
13 C’Z{ { ;) 1% 3 grn?;;<+0+0 g
=, s ] HaxH: ([’o} U, [f/a,,+ )+ Uy Mk

ma
Xﬁrﬂ(}‘h’ét/ ”’éh//

(N—?,W H/ZQ/VWZU; fo




Solution:

L :ZLL?JM{qg—L‘;J-{r? — pum —= DQ q% {j
3Ky 3x1

@T Ptk

k, lath -
sl (] < - K

m”‘z g aﬁ

L __kz tZ max

(2 - KU =Hay+F — Y 45
sl * Korlg = T
Reaction 0.
(’IS’frOWOF[KYJ-%}:@ = Kq'k'o"k%"b
3%3 = — Kkl




	Slajd 1: Finite element method (FEM1)
	Slajd 2
	Slajd 3
	Slajd 4
	Slajd 5
	Slajd 6
	Slajd 7
	Slajd 8

